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NEW QUESTION 1
Refer to the exhibit.

Internet Protocol Version 4 (TCP/IPv4) Properties bt
General

You can get IP settings assigned automatically if your network supports
this capability, Otherwise, you need to ask your network administrator
for the appropriate IP settings.

() Obtain an IP address automatically
(@) Use the following IP address:

IP address: 10, A7 ... Z13.. 75

Subnet mask 255 « 255 . M8 . 0

I

Derault gateway 110 [RAPE g e e |

(") Obtain DNS server address automatically
(@) Use the following DNS server addresses:

Preferred DNS server: ' . .

Alternate DNS server:

[[]validate settings upon exit Advanced...
oK . Cancel

Using the static IP address configured above, what is the converted binary value of the third octet assigned to the local interface?

A. 11010101
B. 10110001
C. 01001011
D. 11111000

Answer: A

NEW QUESTION 2

What is the login and password combination is used when first configuring an Aruba OS-CX switch from factory defaults?
A. Login admin and password field empty.

B. Login admin and password forgetme!

C. Login admin and password password.

Answer: B

NEW QUESTION 3
Place the OSI Layers in the correct order. Arrange them from least to greatest, starting with Layer 1 on the top, and progressing to Layer 7 on the bottom.

OSI Laver Order

Application Layer

Data Link Layer

Network Layer

Physical Layer

Presentation LE}'E[

Session Layer

Transport Layer
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A. Mastered
B. Not Mastered

Answer: A

Explanation:
Graphical user interface, application Description automatically generated

NEW QUESTION 4
Which two statements accurately describe the features of NetEdit? (Choose two.)

A. NetEdit can be used to configure and validate any third-party device that supports SSH and REST access.
B. NetEdit includes trial licensing for up to 10 nodes.

C. NetEdit can perform configuration and compliance validation.

D. NetEdit supports viewing and editing multiple devices using a single deployment plan.

E. NetEdit can run on a mobile device using Android or Apple IOS.

Answer: CD

NEW QUESTION 5
Which two options are correct regarding the IEEE 802.11ax standard? (Choose two.)

A. allows transmissions of up to 4.8Gbps

B. is an emerging satellite connection standard to allow wireless access anywhere in the world
C. operates only in the 5GHz similar to 802.11ac

D. operates in both the 2.4GHz and 5GHz radios bands

E. is the first WLAN standard to no longer use electromagnetic signals to transmit data

Answer: AD

NEW QUESTION 6
What are two methods for remotely managing an Aruba AOS-CX switch? (Choose two.)

A. SNMPv2c

B. HTTPS

C. USB-C console
D. Telnet

E. SSH

Answer: BE

NEW QUESTION 7
Which option correctly describes a WAN network?

A. a group of computer resources that communicates between geographically separate location
B. the connection between two separate buildings in the same campus

C. a network of devices over long distances but limited to within a single ISP

D. compute resources that are networked locally over wireless

Answer: A

NEW QUESTION 8
Refer to the exhibit.

Ethernet adapter Ethernet 3:

Connection-specific DNS Suffix
Description . . . . . . . . . . Killer E2200 Gigabit Ethernet Controller #2 #2 #2

Physical Address. . . . . . . . D8-CB-8A-17-8D-ED
DHCP Enabled. . . . . . . . . . No

Autoconfiguration Enabled . . . Yes

Link-local IPv6 Address . : feB0::dlea:377f:5154:9f53%3(Preferred)
IPv4 Address. . . . . . : : 192.168.1.10(Preferred)

Subnet Mask . . . . . . 255.255.255.0
Default Gateway . . . . 192.168.1.1

What is the correct binary conversion of the last two hexadecimal characters of the physical address?
A. 1101 1000

B. 1110 1101

C. 1001 1111 0101 0011

D. 1000 1101 1110 1101

Answer: B
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NEW QUESTION 9

What are two OSPF attributes within the hello messages that must match to successfully establish neighbor relationships? (Choose two.)

A. Router ID

B. Priority

C. Hello and Dead intervals
D. Area ID

E. Process ID

Answer: CD

NEW QUESTION 10
Refer to the exhibit.

Switch-A

N\

Switch-B

vd
271/1||2/172

Firewall

The above scenario shows a packet from the Server destined for the Firewall. Switch-A and Switch-B are bundled as VSF stack. The LAG between the VSF stack
and the firewall indicates a hash function to forward the packet on port 2/1/2.
Which statement is true regarding how Switch-A will forward the packet?

A. Switch-A will forward the packet on port 1/1/2. VSF will override the typical LAG hash function used for the physical interface selection.

B. Switch-A will drop the packe

C. Multi-Chassis lag to multi-chassis lag is not a supported feature of VSF.
D. Switch-A will encapsulate the packet using GRE to forward to Switch-B in order for the packet to egress on port 2/1/2 per the hash function.

E. Switch-A will forward the packet along the VSF link to Switch-B so that it will egress on port 2/1/2 per the hash function.

Answer: D

NEW QUESTION 10
Match the terms to the correct layer of the OSI model.

Layer

Transport Layer

Network Layer

Physical Layer

Data Link Layer

A. Mastered
B. Not Mastered

Answer: A

Explanation:

The Leader of IT Certification

Term

Frames

Packets

RF Signals
Segments
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Layer Term

| Transport Layer | |Data Link Layer | Frames

|Network Layer | |Network Layer | Packets

. ASS———

e e

|Physical Layer | Physical Layer | RF Signals
IData Link La}'E’r | lTranspDﬂ Layer \ SEQI’WE’HtS

NEW QUESTION 15

Number Number

SFP+DAC1 19281D CNISKBZ 00X

SFP+DAC1 19281D CN95KBZ086

SFP-BT 18177D CN96KK232sS

SFP-BT 18177D CNI6KK20R2

SFP-BT 181770 CNI6KK232F

SFP28DAC3 JL488A CN97KBGOBJ
1/1/26 SFP28DAC3 JL488A CN97KBGO57
1/1/45 SFP28DAC3 JL488A CN97KBGOCW
1/1/46 SFP28DAC3 JL488A CN97KBGOCX
1/1/47 SFP28DAC3 JL488A CN97KBGOD6
1/1/48 SFP28DAC3 JL488A CN97KBGO38
Core - 1% |}

Number

8121-1300
8121-1300
1990-4640
1990-4640
1990-4640
8121-1743
8121-1743
8121-1743
8121-1743
8121-1743
8121-1743

What command (output shown above) gives the optics serial number and part number information?

A. show interface physical

B. show interface transceiver
C. show inventory

D. show interface optics

Answer: B

NEW QUESTION 19

Which field in the IPv4 header indicates whether the IP packet carries TCP or UDP traffic?

A. Protocol

B. IHL

C.TTL

D. Identification

Answer: A

NEW QUESTION 23
Refer to the exhibit.

purt
paEL
part

VLAN Name Mode

¥ DEFAULT VLAN 1 native-untagged
10 Sales trunk

20 Service trunk

30 Customer trunk

Which command produces the above output?

A. show interface port 1/1/10 trunk

B. show vlan port 1/1/10

C. show trunk port 1/1/10 extended

D. show interface port 1/1/10 switchport

Answer: C

NEW QUESTION 28

Which switches support Aruba Virtual Switching Extension (VSX)? (Choose two.)

A. Aruba 6405

The Leader of IT Certification

paEh

visit - https://www.certleader.com



CertLeadera 100% Valid and Newest Version HPE6-A72 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/HPE6-A72-dumps.html (88 Q&As)

B. Aruba 2930F
C. Aruba 8400
D. Aruba 5406R
E. Aruba 8350

Answer: AC

NEW QUESTION 33
What are two available options as part of a DHCP offer message? (Choose two.)

A. SSID

B. DNS server IP
C. Subnet Mask
D. LLDP-MED

E. VLANID

Answer: BC

NEW QUESTION 35
With what other technology does Half Duplex communication closely match?

A. a pair of fiber optic strands allowing transmit on one and receive on the other at the same time
B. a mobile phone call

C. point-to-point connections between two switches allowing concurrent transmit and receive

D. CB radio using push-to-talk

Answer: D

NEW QUESTION 38
What are two features of the three-tier designs? (Choose two.)

. removes the distribution layer in favor of a spine-leaf design used in modern data center deployments

. adds a distribution layer to free up resources from the Core for improved performance and routing throughput

. a more scalable design over by leveraging a distribution layer to handle Layer 3 routing and access control in large deployments
. uses only Layer 2 access on the Access and the Core with Layer 3 routing and access control provided at the distribution layer

. is considered legacy by requiring a large flat layer-two broadcast domain from Core to Access and should be avoided

moQOm®@>

Answer: BC

NEW QUESTION 40
Refer to the exhibit.

Mstr

S +-——+
| 2 [1==1] 1 |
+-——+ +-——+

Access-1(config)# l

What VSF command produces the above output?

A. show vsf member
B. show vsf link

C. show vsf topology
D. show vsf detail

Answer: C

NEW QUESTION 41
Your customer has 349 users in a two-story building. What are two benefits of a 2-Tier design? (Choose two.)

A. Layer 2 and Layer 3 protocols run close to the endpoints to better implement ACL and QoS policy at the edge.
B. Improved performance by offloading processing from the Access layer to the Core.

C. Use of layer 2 switches at the access layer can process and route traffic from attached APs.

D. Support for WAN/MPLS, Internet, and Data Center directly on the Collapsed core.

E. Provides a more cost effective solution given that no additional switches are required for a third tier.

Answer: AE

NEW QUESTION 44
What are two features in a 2-Tier design that are implemented at the Access layer? (Choose two.)
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A. VPN access

B. WAN/MPLS connectivity
C. Endpoint Access

D. Deep packet inspection
E. Power over Ethernet

Answer: CE

NEW QUESTION 45
Which statement is correct regarding powering an Aruba Access Point?

A. PoE or PoE+ is only used with Ethernet that is carried over multi-mode fiber cabling.

B. Using switchports for this reason is unnecessary, because Aruba Access Points typically use an AC to DC power adapter to draw power.

C. PoE or PoE+ enabled switchports are rarely used given concerns about causing electrical interference, with the data also carried over Ethernet cabling.
D. Most administrators use PoE or POE+ enabled switchports to provide both Ethernet connectivity and power to the AP.

Answer: D

NEW QUESTION 49
Which two commands will save the running-config so that changes will be loaded automatically on the next reboot? (Choose two.)

A. write memory

B. save

C. copy config configl config startup-config
D. copy running-config startup-config

E. copy running-config checkpoint boot-config

Answer: AD

NEW QUESTION 51
Refer to the exhibit

show wvlan
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What is true regarding VLAN 50 according to the diagram above?

A. VLAN 50 is part of a switched virtual interface (SVI) that was never routed causing it to be down.
B. Since VLAN 50 has not been assigned to any enabled physical port, the status is down.

C. VLAN 50 is assigned only to Trunk ports which is why no ports are listed under interfaces.

D. VLAN 50 was never added to the vlan-database and therefore is in a down state.

Answer: B

NEW QUESTION 54
What connectivity commands are available on AOS-CX switches? (Choose two.)

A. netstatus

B. traceroute
C. ping

D. pathping

E. tracert

Answer: BC

NEW QUESTION 55
Which two options are the Layer 2 protocols? (Choose two.)

A. 802.1Q
B. IPSec
C.STP

D. RIP

E. 802.11af

Answer: AC

NEW QUESTION 59

What command will save your configuration on an Aruba AOS-CX switch so that your changes automatically load on next reboot?
A. copy running-config checkpoint startup-config

B. copy startup-config running-config

C. copy running-config initial-checkpoint
D. copy running-config default
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Answer: A

NEW QUESTION 62
Which two options are the Layer 3 Routing protocols? (Choose two.)

A. BGP

B. LLDP
C. OSPF
D. MPLS
E. 802.3ad

Answer: AC

NEW QUESTION 63
What are the benefits of a 3-Tier design over a 2-Tier? (Choose two.)

A. Offloading processing from the Core without routing at the Access layer.

B. Can use lower speed links between Core to Aggregation and Aggregation to Access given the use of an Aggregation layer.
C. Lowering the cost of a deployment due to needing less switches overall.

D. Better scalability in a campus with a large number of buildings.

E. Gaining the flexibility to connect the Data-Center to any Access layer switch.

Answer: AD

NEW QUESTION 65
Which two statements accurately describe stacking with Aruba switches? (Choose two.)

A. A VSF stack is allowed between an AOS-CX 6300M and 6300F switches.

B. VSF is a core or aggregation layer stacking technology due to the high resiliency of sharing a single control plane.
C. The VSF feature is not compatible between AOS-CX and AOS platforms.

D. A VSF stack is allowed between an AOS 5400R and an AOS-CX 6400.

E. VSF and VSX are stacking option with the AOS-CX 8320. 8325. 8400. and 6400 models.

Answer: BE

NEW QUESTION 66
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